CONT. ON

2"-CTWA-20016
E 21"1.15/16"
N 17°11,15/16"
EL +45"1,3/4"

EL +47'10.11/16"

E17'7.11/16"
N 15'0.7/8"
EL +47°10.11/16"

[F7 cg Bid]

2'8.15/16"

EL +47°3.1/8"

I
|
[l
o
I
[l

EL +46'11.3/16"£—-i

11.1/2"

2.1/16"

]

/—3.15/16" -

2x1/2"NS

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.s. aTy
NO
PIPE
1|CTWA PIPE STD WT SMLS STL A106-B 2 9.3
2 |CTWA PIPE SCH 80 SMLS STL A106-B 1/2 0. 1Y
FITTINGS
3|cTwA  [HALF COUPLING 30004 SCRD STL 2 % i
A105 172
4)cTwa  [ELL 90 DEG LR STD WT STL A234 |2 2
WPB BW
5/cTwA  |ELL 90 DEG LR STD WT STL A234 |2 ]
WPB BW
6| CTWA CAP 30004 SCRD STL A105 1/2 1
FLANGES
7 |CTWA FLG WN 150# RF STL STD BORE A105 |2 3
ERECTION MATERIALS
PT |SPEC COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
8|SUPP  |SPS-2 RESTING SUPPORT 5 1
GASKETS
ocTwA |GASKET 150# 1,/8” 316 SPRL WND |2 3
W/FLEXICARR TYPE CG
BOLTS
10| CTWA 3.1/8 x5/8" STUD BOLT A193 GR B7 |11/16( 12
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
11{cTwa  |GLOBE 1504 FLANGED RF C.STL F6 |2 1
TRIM OS&Y
12|CTWA GATE BO00#SCRD F6/STL TRIM OS&Y 1/2 1
ASTM A105
TSHT' 2
[ aren: CETYL 2 _CTWA-02005
PIPING GA NO: — P&D NO: 1002/1013 STRESS CRITICAL: NA
OP.TEMP; 'O°F OP.PRESS: 10 psig TEST MEDIUM; HYDRO

DES.TEMP:366°F

DES.PRESS:150 psig

TEST PRESS: 225 psig

SCALE: NONE

INSUL.TYPE: Ns-CELLULAR

INSUL.THK: 1 inch

LINE NO. i
LNE NS/ 2" _CTWA-02005

ISSUE: R3

SHT. 1 OF 2

TCE FORM NO. 027 RO

SIZE-A3



FABRICATION MATERIALS

SIZE-A3

PT |SPEC |COMPONENT DESCRIPTION N.S. |aTY
NO
PIPE
1[CTWA  |PIPE STD WT SMLS STL A106-B 2 3.0
FITTINGS
2[(CTwA  |REDUCER CONC STD WT STL A234 WPB |4 x 2| 1
BW
E 18'5.5/8" 3|CTWA |ELBOLET 3000# SCRD STL A105 2 x 1
e " 1,2
ne iy 5135" 4[CTWA [ELL 45 DEG STD WT STL A234 wPB |2 2
: EL +49°4.9/16" o
% -9/ 5|CTWA [ELL 90 DEG LR STD WT STL A234 (2 1
WPB BW
2 - \
4x2"NS ] ~ FLANGES
' " I
EL +48'9.9/16 il 6[CTWA [FLG WN 1504 RF STL STD BORE A105 |4 1
:: 7|cTWA  |FLG WN 1504 RF STL STD BORE A105 |2 1
I
il ERECTION MATERIALS
CONT. FROM i
“SHT® 1 il PT [SPEC |COMPONENT DESCRIPTION N.S. |QTY
i NO
|
{ FITTINGS
|
! 8|SUPP  |SPS-2G GUIDE SUPPORT 2 1
' GASKETS
| 9|CTWA |GASKET 1504 1,8 316 SPRL WND |4 1
| W/FLEXICARB TYPE CG
A 10|CTWA  |GASKET 1504 1/8" 316 SPRL WND |2 1
| . W/FLEXICARB TYPE CG
| PO +)
~
: gr\_ BOLTS
| S -
I 2 11|CTWA  |3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16| 4
! W/2 A194 GR 2H NUTS
|
: INSTRUMENTS
|
| 12 ON-OFF VALVE 1504 RF FV 10517 |2 1
13|CTWA |TEMPERATURE INDICATOR(TI) 1/2 1
2x1/2"NS
DIAL FACE SOUTH
1.13/16"
N 8'7.11/16"
EL +47°10.3/4"
ARea:  CETYL 2" -CTWA-02005
PIPING GA NOC: — P&D NO: 10021013 STRESS CRITICAL: NA
OP.TEMP; MO°F OP.PRESS: 0 psia TEST MEDIUM: WYORO
DES.TEMP:366°F DES.PRESS: 150 psig TEST PRESS: 225 psig
SCALE: NONE INSUL.TYPE: n5-CELLULAR INSUL.THK: 1 inch
LINE NO. " ISSUE:
ELE N . 2" -CTWA-02005 R3
SHT. 2 OF 2 TCE FORM NQ. 027 RO

|



Ol
AN

[l
EL +43°7.5/8"

NG ,
L

,’L/

EL +53°10.1/16"

E 16'0.1/2"
N 87.11/16"
EL +52'10.11/16"

1.13/16"

DIAL FACE WEST

2x1/2°NS

°
2
o
~
2x1"NS
EL +49'3.11/16" <

CONT. ON
2"-CTWA-20017
E 21'1.15/16"
N 18°7.15/16"
EL +43'7.5/8"

1.9/16"

/4 W
4 23.3/4

EL +45'2.3/8"

E 16'0.7/16"
N 6'7.3/8"
EL +49'3.11/16"

F12 G15 B16

FABRICATION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
P1PE
EL +52'10.11/16"
1[CTWA |PIPE STD WT SMLS STL A106-B 2 24,9
2|CTWA |PIPE SCH 80 SMLS STL A106-B 1 1.0°
3|CTWA |PIPE SCH BO SMLS STL A106-B 12 | 0.7
FITTINGS
4|CTWA |REDUCER CONC STD WT STL A234 WPB |4 x 2| 1
@ 5/CTwA |TEE STD WT STL A234 WPB BW 2x 1| 1
6|CTWA | THREDOLET 30004 STL A105 2 x 1
1/2
7|CTWA  |ELBOLET 30004 SCRD STL A105 2 x 1
172
8|CTWA  |ELL 90 DEG LR STD WT STL A234 |2 4
WPB BW
9|cTwa |ELL 90 DEG LR STD WT STL A234 |2 1
WPB BW
EL +51°11.11/16" 10(CTWA  |CAP 30004 SCRD STL A105 1 1
11|CTWA  |CAP 3000# SCRD STL A105 1/2 1
.\corm. T0 # /
50-E-7355 _N4T1
E FLANGES
E 18'5.5/8" LLERAEE
N 8'7.11/16"
EL s 4 58" 12|CTWA |FLG WN 1504 RF STL STD BORE A10S |4 1
ERECTION MATERIALS
PT [SPEC [COMPONENT DESCRIPTION N.S. |aTy
NO
FITTINGS
13|SUPP  |SPS-25 TRUNNION SUPPORT 2 1
14[SUPP  |SPS-2 RESTING SUPPORT 2 2
GASKETS
15|CTWA  |GASKET 1504 1/8" 316 SPRL WND |4 1
W/FLEXICARB TYPE CG
BOLTS
16|cTwa  [3.9/16 x5/8” STUD BOLT A193 GR [11/16| 8
B7 W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
17|CTWA  [GLOBE 8004 SCRD A-105 C. STL STD |1 1
PRT F6 TRIM
18[cTwa  [CHECK 800# SCRD C.STL SWING FULL |1 1
PORT F6& TRIM
19{cTwa  |BALL 15004 SCRD CS FULL PORT 3 |[1/2 1
PIECE
VACCUM BREAK TNSTRUMENTS
20[CTWA | TEMPERATURE INDICATOR(TI) 1/2 1
AREA:  CETYL 2"-CTWA-02006
PIPING GA NO: — P&D NO: 1002/1013 STRESS CRITICAL: NA
OP.TEMP; '60°F OP.PRESS: 40 psig TEST MEDIUM: HDRO

DES.TEMP:3¢6°F

DES.PRESS:150 psig

TEST PRESS: 225 psig

SCALE: NONE INSUL.TYPE: Ns-CELLULAR INSUL.THK: 1 inch ,2
LINE NO. / » ISSUE: U
FILE namE : 2 —CTWA-02006 R3 =

SHT. 1 OF

TCE FORM NO. 027 RO



FOR CONT REFER LINE NO 2°-CTWA-15001-TAS FABRICATION MATERIALS
, . MATEH FT-M, REFER-NOTE-2 PT [SPEC |COMPONENT DESCRIPTION N.S. |QTY
E 20'8.11/16 Ho
N 35°7.15/16"
EL +22'3.1/8" PR
1|CTWA |PIPE STD WT SMLS STL A106-B 2 53.3¢
FITTINGS
2|CTWA |ELL 45 DEG STD WT STL A234 WPB |2 2
BW
3[cTWA |ELL 90 DEG LR STD WT STL A234 |2 4
WPB BW
A\l FLANGES
= :$ 4[CTWA |FLG WN 150# RF STL STD BORE A105 |2 3
) ERECTION MATERIALS
PT |SPEC  [COMPONENT DESCRIPTION N.S. |aTy
NO
: L FITTINGS
5 ]
SE 5[SUPP  |SPS-2 RESTING SUPPORT 2 2
= 6|SUPP  |SPS-25 TRUNNION SUPPORT 2 1
to i A 7|SUPP  |SPS-2G GUIDE SUPPORT 2 1
o [“~—_EL +16'7.1/16" GASKETS
=1 8|CTWA |GASKET 1504 1/8" 316 SPRL WND |2 2
ERS W/FLEXICARB TYPE CG
5 4
™
0 EL +11'4.3/16" BOLTS
9|cTwA |3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16] 8
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
10[CTWA |GATE 150# RF FORGED STEEL Fé 2 1
TRIM
EL +10°10.11/16" )
6'11.3/4" N
oy
:n\Y
- 5.1,/2"
EL +3710.15/16" AR I g
(o]
S
F4 G8 B9 L7
_EL +3'3.7/8"
CONT. ON
2" -ALCG-20031
E 3'5.13/16"
N 14°11.1/8"
EL +3'1.5/16"
AREA:  CETYL 2"-CTWA-15001
PIPING GA NO: — P&ID NO:  1015/1020 STRESS CRITICAL: NA
OP.TEMP: 8'F OP.PRESS: 75¢sle TEST MEDIUM: HYDRO
DES.TEMP:130°F DES.PRESS:150psig TEST PRESS: 225psia
SCALE:  NONE INSUL.TYPE: INSUL.THK:
LINE NO. " ISSUE:
EE it . 2" -CTWA-15001 R3

SIZE-A3

SHT. 1 0F 1 TCE FORM NO. 027 RO



FOR CONT REFER LINE NO 2"-CTWA-20016-TAS

MATCH PT-K, REFER NOTE-2

E 21"11.7/16"
N 36'8.1/16"
EL +17'8"

O/

4x2"NS
EL +17'8.1/16"

F8 G14 B15

o]

CONT. ON

2"-CTWA-16015
E 21'11.7/16"
N 25"11.1/16"

FALL 1:1275

CONT. ON_»-"
SHT® 2

CONT. ON
2"-CTWA-02005
E 21'1.,15/16"
N 17°11.15/16"
EL +45'1.3/4"

4x2"NS

EL +45'1.3/4"

.
SPS25-30"-D

EL +17'1,5/8"

EL +16'6.9/16"

1

15410.1,/8"

89.43
EL +62'3.1/16"

| EL +46'5"
| _6.1/8"

4 EL +45'10,13/16"

EL +45'6.13/16"

439.1/2"

| EL +35'5.11/16"

| _EL +25'3.15/16"

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|{CTWA [PIPE STD WT SMLS STL A106-B 4 45.3"
2|(CTWA  |PIPE STD WT SMLS STL A106-B 2 20.3"
FITTINGS
3|CTWA |REDUCER CONC STD WT STL A234 WPB (4 x 2| 1
BW
4[CTWA  [ELL 90 DEG LR STD WT STL A234 4 1
WPB BW
5[CTwA |ELL 45 DEG STD WT STL A234 WPB |4 1
BW
6[CTWA |ELL 90 DEG LR STD WT STL A234 2 1
WPB BW
FLANGES
7|CTWA  [FLG WN 150¢ RF STL STD BORE A105 |4 1
8|CTWA |FLG WN 1504 RF STL STD BORE A105 |2 1
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
NO
FITTINGS
9[SUPP  |SPS-2 RESTING SUPPORT 4 1
10|SUPP  |support SPS-68G 4 1
11|SUPP  |SPS-25 TRUNNION SUPPORT 4 1
12|SUPP  |support SPS-68G 2 1
13|SUPP  |SPS-2G GUIDE SUPPORT 2 1
GASKETS
14 |CTWA  |GASKET 1504 1/8" 316 SPRL WND 2 1
W/FLEXICARB TYPE CG
BOLTS
15|CTWA |3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16| 4
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
16|CTWA  |GATE 1504 RF FORGED STEEL Fé 9 1
TRIM
ArRea:  CETYL 2"-CTWA-20016
PIPING GA NO: — P&ID NO: 102071013 STRESS CRITICAL: NA
OP.TEMP: 75°F OP.PRESS: 5 psig TEST MEDIUM: HYORO

DES.TEMP;366°F

DES.PRESS:150 psig

TEST PRESS: 225 psig

SCALE: NONE

INSUL.TYPE: ns-CELLULAR

INSUL.THK: 1 inch

LINE NO. /
FILE NAME :

2"-CTWA-20016

ISSUE:

R3

SIZE-A3

SHT. 1 0OF 3

TCE FORM NO. 027 RO

l



P

L CONT .
N L ET e o
i Fad
2T
#
A, 2,
EL +62°3.5/8" N e

B
B

2
NED
I
=
=
B

o

FALL 1:115 =

EL +65'7.5/16"
EL +65'2.3/4"

EL +62'5.13/16"

FROM

E5.1/2"
N 9'7.3/4"
EL +65'11.15/16"

5
EL +66'0"
EL +65'11,15/16"

“N_CONT. ON
‘SHT* 3

FABRICATION MATERIALS
PT |SPEC [COMPONENT DESCRIPTION N.S. |aTY
NO
PIPE
1{CTWA |PIPE STD WT SMLS STL A106-B 2 26.3"
2|(cTwA |PIPE SCH 80 SMLS STL A106-B 12 | 1.0
FITTINGS
3|CTwA |ELBOLET 3000# SCRD STL A105 2x 1] 1
4[CTWA |ELL 90 DEG LR STD WT STL A234 |2 4
WPB BW
5(CTWA |ELL 90 DEG LR STD WT STL A234 |2 1
WPB BW
6[CTWA |ELL 90 DEG 2000§ SCRD STL A105 |1/2 1
7|CTWA  |CAP 3000# SCRD STL A105 1/2 1
FLANGES
8[CTWA |FLG WN 150# RF STL STD BORE A105 |2 1
ERECTION MATERIALS
PT |SPEC [COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
9|SUPP  |SPS-2 RESTING SUPPORT 2 3
10|SUPP  |SPS-2G GUIDE SUPPORT 2 1
GASKETS
11|CTWA  [GASKET 1504 1/8" 316 SPRL WND |2 1
W/FLEXICARB TYPE CG
BOLTS
12|CTWA  |3.1/8 x5/8" STUD BOLT A193 GR B7 |11/16| 4
W/2 A194 GR 2H NUTS
VALVES / IN-LINE I1TEMS
13|CTWA  |GLOBE 8004 SCRD A-105 C. STL STD|1/2 1
PRT F6 TRIM
INSTRUMENTS
14 ON-CFF VALVE 1504 RF FV 10512 |2 1
| area: CETYL 2"_CTWA-20016
PIPING GA NO: — P&D NO: 102071013 STRESS CRITICAL: NA
OP.TEMP; 7'F OP.PRESS: 22 pslg TEST MEDIUM: HER0
DES.TEMP:366°F DES.PRESS:150 pstg TEST PRESS: 225 psig
SCALE; NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1 tneh
LINE NO. B ISSUE:
ENE Mol 2"-CTWA-20016 R3

TCE FORM NO. 027 RO

SIZE-AZ



CONT. FROM
'SHT" 2

F12 G17 B20

EL +65'7.1/16"

EL +65'5"

E 5.7/16"
N 8°0.11/16"
EL +65'2"

o[22

T~2.1/16"

F12 G17 B20

F12 G17 B20)

TO ATM

E 5.7/16"

N 4'3.13/16"

EL +67'0,11/16" F11 G16 B18

4.11/16"

PSV
EL +67°0.1/4" \20009

8]

F12 G17 B20

1.13/16"

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |aTY
NO
PIPE
1|CTWA |PIPE STD WT SMLS STL A106-B 3 0.7
2|CTWA |PIPE STD WT SMLS STL A106-B 2 7.2
3|CTWA |PIPE SCH 80 SMLS STL A106-B 1/2 | 0.5
FITTINGS
4|CTWA [TEE STD WT STL A234 WPB BW 2x20 1
5(CTWA  [WELDOLET STD WT STL A105 2 x 1
1/2
6[CTWA |ELL 90 DEG LR STD WT STL A234 |3 1
WPB BW
7|cTwA  |ELBOLET 30004 SCRD STL A105 2 x 1
1/2
8[CTWA [ELL 90 DEG LR STD WT STL A234 2 1
WPB BW
9|CTWA |ELL 90 DEG LR STD WT STL A234 |2 1
WPB BW
10[CTWA  |CAP 3000# SCRD STL A105 1/2 1
FLANGES
11|CTWA |FLG WN 150¢ RF STL STD BORE A105 |3 1
12|CTWA  |FLG WN 1504 RF STL STD BORE A105 |2 5
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
13[SUPP  [SPS-24 SUPPORT 3 1
14(SUPP  [SPS-2G GUIDE SUPPORT 2 1
15[SUPP  [SPS-2 RESTING SUPPORT 2 1
CONN. TO
50-E-7358 N4 GASKETS
E 19.1/4" —
N 22.1/8" 16|CTWA  |GASKET 1504 1/8" 316 SPRL WND |3 1
EL +67'5.1/2" W/FLEXICARB TYPE CG
17|CTWA  |GASKET 1504 148" 316 SPRL WND |2 5
W/FLEXICARB TYPE CG
BOLTS
18|CTWA  [3.9/16 x5/8" STUD BOLT A193 GR |11/16] 4
B7 W/2 A194 GR 2H NUTS
19[CTWA  [3.3/8 x5/8" STUD BOLT A193 GR B7 |11/16| 4
W/2 A194 GR 2H NUTS
20|CTWA |3.1/8 x5/8” STUD BOLT A193 GR B7|11/16| 16
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
21|CTWA |GATE 150# RF FORGED STEEL F6 2 1
DIAL FACE SOUTH TRIM
an 22|CTWA | GATE 8004SCRD F&6/STL TRIM 0S&Y  [1/2 i
ASTM A105
INSTRUMENTS
£ 5.7/16" 23 RELIEF.VALVE.05.16 PSV 20009 3x2| 1
N 22.1/8" 24 TEMPERATURE INDICATOR(TI) TI 1/2 1
EL +66'0.1/16" 8912
AREA:  CETYL 2" -CTWA-20016
PIPING GA NO: — P&D NO: 102071013 STRESS CRITICAL: NA
OP.TEMP: 75'F OP PRESS: 25 pstg TEST MEDIUM: HYORO

DES.TEMP:366°F

DES.PRESS: 130 psig

TEST PRESS: 225 psig

SCALE: NONE INSUL.TYPE: n5-cELLULAR INSUL.THI: 1 tnch
UREHB-/ oy SSUE:
FILE NAME : 2 —CTWA-20016 R3

SHT. 3 OF

TCE FORM NO. 027 RO

SIZE-A3



42.7/8"

EL +68'9.1/2" /-
EL +69°1.1/2"

EL +68'4.9/16"

EL +67'5.1/16"

CONT. ON_7*
SHTY 2

3.15/16" _|

5.15/16"

12.7/8"

—=

EL +74'9.3/16"

FALL 1:100

FS G12 B13

2"NS
Z

o

EL +73'8.3/8"

FABRICATION MATERIALS
PT [SPEC [COMPONENT DESCRIPTION N.S. [aTY
NO
PIPE
1{CTWA  [PIPE STD WT SMLS STL A106-B 4 0.8
2|CTWA |PIPE STD WT SMLS STL A106-B 2 |1e.s
3[CTWA  |PIPE SCH 80 SMLS STL A106-B 1 0.7'
FITTINGS
4|CTWA  |REDUCER CONC STD WT STL A234 WPB |4 x 2| 2
BW
5|CTWA |TEE STD WT STL A234 WPB BW 2x 1| 1
6|CTWA | THREDOLET 30004 STL A105 ax |
1/2
7|CTWA |ELL 90 DEG LR STD WT STL A234 |2 2
WPE B
8[CTWA  [CAP 30004 SCRD STL A105 1 1
FLANGES
o[CTWA |FLG WN 150¢ RF STL STD BORE A105 |2 2
ERECTION MATERIALS
PT [SPEC [COMPONENT DESCRIPTION N.S. [aTy
NO
FITTINGS
10|SUPP  |SPS-2 RESTING SUPPORT 2 1
11|SUPP  |SPS-2G GUIDE SUPPORT 2 1
GASKETS
12|CTWA  [GASKET 1504 1/8" 316 SPRL WND |2 2
W/FLEXICARB TYPE CG
BOLTS
et @ 13[CTWA  |3.1/8 x5/8" STUD BOLT A193 GR B7|11/16| 8
E 19,178 W/2 A194 GR 2H NUTS
N 22.1/8"
Bon v VALVES / IN-LINE ITEMS
14|CTWA  |GATE 8004SCRD Fe/STL TRIM 0S&Y |1 1
ASTM A105
INSTRUMENTS
15 TENPERATURE INDICATOR(TI) T1 12 | 1
8821
ARea:  CETYL 2"-CTWA-20017
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 75 OP.PRESS: 25 psig TEST MEDIUM: Service
DES.TEMP: 356-¢ DES.PRESS: 150 paig TEST PRESS: 225 patg
SCALE: NONE INSUL.TYPE: ns-ceLLuLar INSUL.THK: 1 tnch
LINE NO. / . ISSUE:
LNE K0T o eTwa 20017 R4

SIZE-A3

SHT. 1 OF 3 TCE FORM NO. 027 RO



FABRICATION MATERIALS

R : PT |SPEC |COMPONENT DESCRIPTION N.S. |aTy
NO
PIPE
TlcTwa  |PIPE STD WT SMLS STL A106-B 2 18.3
2[cTwa  |PIPE SCH 80 SMLS STL A106-B 12 | 1.5
FITTINGS
gg:; |1:Rou 3[cTWA |ELBOLET STD WT STL A105 2 x 1
1/2
|
| — 4{CTwaA \Ebg gg DEG LR STD WT STL A234 |2 2
I 'SHT' 3 T
I ~. 2"NS S{CTWA [ELL 90 DEG 2000# SCRD STL A105 |1/2 1
A 6|CTWA [CAP 3000# SCRD STL A105 1/2 1
NN 3"
1 EL +62'4" ~ FLANGES
7l EL +66°10" ~ —
i 5 /::/ 2 7|[CTWA |FLG WN 150# RF STL STD BORE A105 |2 3
}/ /j;Z’ ERECTION MATERIALS
o™ ,//
> P PT |SPEC |COMPONENT DESCRIPTION N.S. [aTy
o W o //:j/ NO
L SIS ——— ' 7 FITTINGS
# @ ——
7 A al 8|SUPP  |SPS-2 RESTING SUPPORT 2 1
9[SUPP |SPS-2G GUIDE SUPPORT 2 1
GASKETS
g 5 /16" EK 10|CTWA |GASKET 1504 1/8" 316 SPRL WND |2 3
; E¥ : W/FLEXICARB TYPE CG
; i |_EL +65°10.7/8"
EL +65'8.15/16 LK i S
) o
2 EL +65'1.7/8" 1.7/16" 11|{CTWA |3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16] 12
= 'y W/2 A194 GR 2H NUTS
~ [ _DRAIN
i F7 G10 B11 " . 7
2y 1/2°NS E 13.3/8" > VALVES / IN-LINE ITEMS
= 1 N 13°10.1/4" #
! EL +65'7.1/4 « 12|CTWA |GATE 1504 RF FORGED STEEL Fé ) 2
: EL +65'5.7/8" | TRIM
,\7" 13|CTWA |GATE BOO#SCRD F6/STL TRIM OS&Y [1/2 1
| # ASTM A105
| P4
| P
il i "
il = Al
| o G-
i | i 9
P = >
= P>
~ 1 -
=~
o~ : ,,:/’
| | Lz
I
! ! i
ij 7
! DA
CAF
I _+
| & .
z l.\b
R FALL 1:100
89,43°
EL +62'5.15/16"
[Area: CETYL L 2°_CTWA-20017
PIFING GA NO: = P&D NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 75'F OP.PRESS:25 psig TEST MEDIUM: service
DES.TEMP: 345+ DES.PRESS: 150 psiq TEST PRESS: 25 psiq
SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1 tnch
ISSUE:

LINE NO. /

FILE NAME : 2 ~CTWA-20017 R4

SHT. 2 0F 3 TCE FORM NO. 027 RO

=



FOR CONT REFER LINE NO 2°-CTWA-20017-TAS
MATCH PT-J, REFER NOTE-2

E2i"2

N 35'8.1/16"

EL +17'8.1/16"

EL +623.9/16"

E 21°1.15/16"
N 27°2.1/8"

15.3/8"

CONT. FROM
"SHT" 2
EL +46°5"

4x2"NS
EL +43'7.5/8"

CONT. ON
2"-CTWA-Q2006
E 212"
N 18°7.15/16"
EL +43'7.5/8"

EL +35'5.11/16"

SPS25-30"-D

A1

89.43°
EL +62'3"

15'10"

| 23.1/8"

44°6.15/16"

8'1.15/18"

EL +45'6.13/16"

| EL +25°3.15/16"

\@

EL +17'8.1/16"
EL +17°8.1/16"

EL +1771.9/16" [3]

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
T|CTWA  [PIPE STD WT SMLS STL A106-B 4 43.7
2|CTWA |PIPE STD WT SMLS STL A106-B 2 25.6
FITTINGS
3(CTWA |REDUCER CONC STD WT STL A234 WPB (4 x 2| 1
BW
4|CTWA  |ELL 90 DEG LR STD WT STL A234 4 1
WPB BW
5|CTWA |ELL 90 DEG LR STD WT STL A234 2 2
WPB BW
| FLANGES
6|CTWA [FLG WN 150# RF STL STD BORE A105 |4 1
7|CTWA  [FLG WN 1504 RF STL STD BORE A105 |2 1
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
8[SUPP  |SPS-25 TRUNNION SUPPORT 4 1
9|SUPP  |support SPS5-68G 4 1
10|SUPP  |SPS-2 RESTING SUPPORT 4 1
11|SUPP  |SPS-2 RESTING SUPPORT 2 1
12|SUPP  |SPS-2G GUIDE SUPPORT 2 1
13|SUPP  |support SPS-68G 2 1
GASKETS
14|CTWA | GASKET 1504 1/8" 316 SPRL WND 2 1
W/FLEXICARB TYPE CG
BOLTS
15(CTWA  |13.1/8 x5/8" STUD BOLT A193 GR B7 |11/16| 4
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
16|CTWA |GATE 150# RF FORGED STEEL Fé 2 1
TRIM
ARea:  CETYL 2"-CTWA-20017
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 75'¢ OP.PRESS: 25 psig TEST MEDIUM: service

DES. TEMP: 345+

DES.PRESS: 150 psig

TEST PRESS: 225 pstg

SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1 inch
LINE NO. / W ISSUE:
LNENO. 7 2+ CTWA-20017 R4

SHT. 3 ©OF

TCE FORM NO. 027 RO

=



FABRICATION MATERIALS

PT [SPEC |COMPONENT DESCRIPTION N.S. [aTy
NO
PIPE
CONT. ON 1|CTWA |PIPE SCH 80 SMLS STL A106-B 1.1/2(31.9"
3"-REF-DN-EXISTING 2|CTWA |PIPE SCH 80 SMLS STL A106-B 374 | 0.4
E 190"
N 393" FITTINGS
EL +15°0" g ——
5 3|CTWA | TEE 20004 SCRD STL A105 1172 1
{CONN TO WELL WATER HEADER) F ¥ " 4
1.1/2
4|CTWA  |TEE 2000# SCRD STL A105 112 1
x
i 3/4
.5 & ) 5|CTWA |ELL 90 DEG 20004 SCRD STL A105 [1.1/2] 3
“T6.. q,‘b"\ v 6[CTWA |CAP 30004 SCRD STL A105 3/4 1
~
\l/ 2 FLANGES
o -
b 7|CTWA  |FLG SCRD 1504 RF STL A105 IRVZI
8[CTWA |FLG BLIND 150# RF STL A105 IRV
ERECTION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |aTy
NO
& 7
# e FITTINGS
EL +8'11.3/16" & _
9|SUPP  |RESTING SUPPORT CS 1172 3
Bl
GASKETS
0. —
T 10|CTWA |GASKET 1504 1,/8" 316 SPRL WND 1.2 1
W/FLEXICARB TYPE CG
2'4.3/8"
BOLTS
11|CTWA |2.3/4 x1/2" STUD BOLT A193 GR B7 |9/16 | 4
|§|/ 7 < 1516 W/2 A194 GR 2H NUTS
=5
| “o,
L5
2
1.1/2%1.1/2"NS EL +9'4,7/16" /f 6]
f ‘ TO WASH DRUM
Dy &
e | I
CONT. ON G ¥
2"-CTWA-16008 -
E 21'4.15/16" !
N 25°10.5/8" g '

I
EL +970.1/2" l,\

‘¢
-3
“E 8.13/16"

&
@/@

F7 610 Bi

1.1/2x3/4"NS

Area:  CETYL 2" -CTWA-WELL WATER HEA
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 7 OP.PRESS: 29psly TEST MEDIUM: Service
DES.TEMP:366 DES.PRESS: 150 TEST PRESS: 25

SCALE: NONE INSUL.TYPE: N5-ceLLULAR INSUL.THK: na

LINE NO. / i ISSUE:

FILE nmut . 2" -CTWA-WELL_WATER_HEADER | R3

SHT. 1 OF 1 TCE FORM NOQ. 027 RO

SIZE-A3



